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2U=v9 25BE EH+E8 £5+VIO EH+EE+VIO ] VIO
ISFILOV=vy 215,250H — 294,260H 378,000H 110,250H 94,000
MEERIV=YY 77,400M/6[H — — 155,700M/6[E | 40,800 /6[=] 54,000M/6[H]
HBED )=y 19,800M/1[g] — 29,600M/1[=] 36,600F/1[g] 7,800M/1[=] 9,800M/1[E]
mIRF9)=vH EH/BREGL — - - — -
TI00U=vy 21,780M/1[=] - — 32,780M/1[H - -
HITZBNE 167,200H 180,400H 180,400M 198,000H 26,400H 26,400H
TILLO)=vY 253,000H 308,000 297,000H 341,000M — —
BRANKIV =Y 327,800H — 437,800H — 110,000H 132,000M
BALEII=vY 281,600M/4[=] - 136,800M/4[m] | 422,400 /4[a] | 107,280 /4[a] | 55,440 /4[q]
REVI=vY EH/BREGL — — — — -
N==D)=v) — — — 33,000M/1[=] -
ENLBIFI—0)Zv) 327,800H — 415,800M — — 88,000
HARORFBLTA—RY) =YY 149,600H — — — — —
AP =9y E55E EH+ET £5+VIO £5+E45+VIO es VIO
MEERIV=YY 293,330MA/6[=| — — — 16,800 /6[al 84,000 /6[g]
AVAXIZFI 176,000M — — — 38,500H 78,000H
BT HIFIN—=0)=vY 491,700H — — — 109,120M —
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